Topic: chapter 9
QUESTIONS
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ANSWERS

	What is reaction stoichiometry?
	Pg.299
	Research stoichiometry involves the mass relationships between  reactants and products in a chemical reaction.

	What is a mole ratio?
	Pg.300
	A mole ratio is a conversation factor that relates the amounts in moles of any two substances involved in a chemical reaction.

	What is the solution plan for problems in which the given and unknown quantities are expressed in moles.

	Pg.305
	Amount of given substance (mol) x mol unknown/ mol given = Amount of unknown substance (mol) 


	What are you asked to do in stoichiometric calculations?
.
	Pg.306
	You are asked to calculate the mass of a substance that will react with or be produced from a given amount in moles of a second substance.

	Balance this equation: NH3+O2(N2+H2O

	Pg.311
	NH3+O2(N2+H2O= 4molNH3

	What is limiting reactant?
	Pg.312
	The limiting reactant is the reactant that limits the amount of the other reactant that can combine and the amount of product that can form in a chemical reaction.

	What is an excess reactant?
	Pg.312
	The substance that is not used up completely in a reaction is called the excess reactant.

	What is a theoretical yield?
	Pg.317
	The theoretical yield is the maximum amount of product that can be produced from a given amount of reactant.

	What is an actual yield?
	Pg.317
	The measured amount of a product obtained from a reactant is called the actual yield of that product.

	What makes a percentage yield any different from a theoretical or actual yield?
	Pg.317
	A percentage yield is the ratio of the actual yield to the theoretical yield, multiplied by 100.



	SUMMARY:
	Research stoichiometry involves the mass relationships between  reactants and products in a chemical reaction. A mole ratio is a conversation factor that relates the amounts in moles of any two substances involved in a chemical reaction. Amount of given substance (mol) x mol unknown/ mol given = Amount of unknown substance (mol) . You are asked to calculate the mass of a substance that will react with or be produced from a given amount in moles of a second substance. NH3+O2N2+H2O= 4molNH3. The limiting reactant is the reactant that limits the amount of the other reactant that can combine and the amount of product that can form in a chemical reaction. The substance that is not used up completely in a reaction is called the excess reactant. The theoretical yield is the maximum amount of product that can be produced from a given amount of reactant. The measured amount of a product obtained from a reactant is called the actual yield of that product. A percentage yield is the ratio of the actual yield to the theoretical yield, multiplied by 100.


	
	

	
	

	
	

	
	


�YOU CHOSE GOOD QUESTIONS TO ANSWER. 





�NOTES ARE TOO BRIEF AND COULD BE IN MORE DETAIL. 


�Your summary is fine. You can highlight the key things in the summary. 





